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60W oW 14.5W +8W !What is the power rating ?ng.z.{(u:}flﬁA :
SR N __:9fa lamp connected to a 12V source when it carries 2.5A ?
£ . [ 2 T - e SRl
| 2 4 g S G L pede tbJis iy 2
| Volage | Power Energy Charge | Transformer is used to chan ge the value of:
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B i The cathode-ray oscilloscope consists of the componens; | - !

L
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What happens to the atomic number of an element which
emits one alpha particle?

L. - One byte is equal to bits. - |

Decreases by |1 Decreases by 2 | Stays the same | [ncreases by 1

L1956 1756 (1656 L1856 . ?QK'JJMH’%LJ%f/ 7

| » When did Christian Hyi&égs_ invent the pendulum clock?

A K "". Y e v o 4
972 | 1200 2000 ¢ 3980 R B § BT 25 Cu-fb_/g‘ &
R L. . Q. A i - The speed of sodnid-in Wood at 25°C in meter per second is:
N o - b ’ R
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B i | A |TheindeKaf refiiction of ethyl alcohol is: |
o . ‘b;'/ - . :
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-4 lcm -8.2cm -9.9¢cm -20cm An objeet’is 14cm in front of '?.5_ _Lfé‘@f:’bﬁ/ - (3)‘..; ' |

| ; a convex mirror. The image is 5.8cm behind the mirror.
S o What is the focal length of the mirror?
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Capacifance is defined as;

5 25T Zolesiy Figk Flisy
Free clectrons
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An electric current in conductors is due to the flow of:
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An electric current in conductors is due to the flow of:
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(Part-1 , d}\ diaa ) :
Wrtie short answers to any ¥IVE parts. i _éaglﬁ/séflzléia.éf
g =10ms™> Fe 1.0m Jdeépl’c; T T

Find time period of a simpie pendulum of 1.0m long where g = 10ms™2.

Define longitudinal waves. -S{E_@/‘U;gujj;%@ (1)
Define pitchi. On what factor it depends? ?.;_bﬂ{fujglffﬁm _;.é._.y/Uff; (iii)
Define intensity. What is its SI unit? Se Uy ST6U1 i AS ‘;"ﬁ (iv)
Define uitrasound. __é,‘.@j:’.JJ:fwﬂl (v}
Define electric current. Write its unit. i’ﬁ.ﬁ.:};_‘(gﬂ ‘.‘:‘_,;I/Q::.._'r'f..f}gf (vi)

Ay (T
-g’r}vwg}’?w/ Kunda b 2useingh i

IFthe diameter of a copper wire is 2 millimeter, then find its Cross sectional area.

Write short answers to any FIVE parts. & ...‘:—U:'!/“-‘%:rl?._ lékc:.(j:(
State laws of reflection of light. ‘,&_‘-’c}ggﬁﬁé u’ﬁl"jjt,(tﬁx (i)
What is meant by farsightedness? s e }”’,c_f" (i)
Diefine electrostatic induction, ..gfgug/‘.&f&l..@: A (i)
State Coulomb's Jaw. : . _“éul:.u:}ﬁ'{__«)f (iv)
What is mica capacitor? e /"{J,:! v)
Whai is meant by compact disk? ?q.Jyga..._Cj_uE:f {vi)
Define word processing. _é i j:"J.ﬁ,:‘p;j» (vii)
Define hardware., ' S A7t i)
“Write short answers to any FIVE parts. _é.;wzﬂ"?.f_nz lé&cf_.{j),
(eseribe the working principle of a DC motor. -édgdr’!ﬁ;_./?’b’ﬁ)y'{jdi ()
State Lenz's law. | -6 Giy
What is meant by thermionic emission? ) ‘.’c‘:_)yl;(cf u%{F_fx‘/;’ (11i)
How are the electron deflected by electric field? ?.;‘;,L-}nqrui?jJi;}?Jd”,Jj‘ﬁﬂg_jJ}gl {iv)
MAND gaie is reciprocal of AND gate. Discuss briefly. _g.‘-f_uu,i/f-" _..3*_..3,’4(.:./,_‘?51 e..fk (v)
What {5 meant .hy auclear transmutation, e JJ/lf'/r_-_,. J:;_fuj I}//:gj {vi)
Describe two properties of gamma radiations. _ _éggagn%gfff’i@wf {vii)
Writs three isotopes of hydrogen. _é’;fﬁﬁﬂ/?@fﬁdzu,‘ﬂ (viii)

Ui 09 Clry L2 ezl iy 3 (plgd dias.

Part- 11, Attempt any TWO questions. Each question carries 09 marks,

_é&?w}d’ﬂ/sjofjgj{jdga)id/u@i) ?/I“_)!/‘“L.'/a..-@ub (i

What is meant by ripple tank? Explain refraction of water waves with the help of ripple tank.

et

G (PP IS B ety Wb 200me o 15cm A3 ”vggl'_l(]cmal{'sl(,{(,ﬁ({uﬁ ()

[ -
An object 10cm high is placed at a distance of 20cm from a concave lens of focal length 15¢m.
Caiculate the position and size of the image,

_u;:L@é;}iu:&[_:&;&,{czg{ug;ujrf@g ()

Describe four safety measures that should be taken in coninection with the house hold circuit,
St e ire S48 12V < B AL ofon ¢ 6pF w124 IR s ()
A LY T

T'we capacitors of capacitances 6pF and 12pF are connected in series with 12V battery. Find the
zquivalent capacitance of the combination. Also find the charge and potential difference across
cach capacitor.

Differentiate between magnetic disc and hard disc, —é{fa)u:i;;)&)ﬂgﬁj\-@g (N
Write five hazards of radiations. “.g:(”//’.::f/b?ég LS4 ()
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(Part-1 J3l4daa ) .
Write short answers to any FIVE parts. & ggwﬁ.ﬁ,lz:@:ﬂ/ -2
g =10ms~2 £e1.0m JQJJU’-.,:;{['P; sleshinds

Find time period of a simple pendulum of 1.0m long where g = 10ms™2.

Define longitudinal waves. &k i J-Fﬁ..’ WS 5:‘-5’ (i)
Define pitch. On what factor it depends? ety Jf L/:lﬂ";fb’w -é‘ - }U’ & (i
Define intensity. What is its SI unit? fe Uy sten g AS u"”- (iv)
Define ultrasound. _é‘._.é_l/"‘iﬁ:iwﬂf v)
Define electric current. Write its unit. -éf_*f‘:_l?'u’: E“:_;l,*t_.;(c;_.:f'/._(}gf (vi)
Define Ohm. ~E A i)

_g,*’:})#g_/lf?uufb’w?ﬂj-:dz /’-fyib’}f»;b’ﬁ (viii)

If the diameter of a copper wire is 2 millimeter, then find its cross sectional area,

Write short answers to any FIVE parts. <& ..::—Lli:/#tf.rfz iig..—..éf -3
State laws of reflection of light. _éugc:'fiﬁd’gjd’& (i)
What is meant by farsightedness? ‘.‘f_:yl,ﬂ:_.d /U.u_?’ (ii)
Define clectrostatic induction. _g__f_g/&-/‘ﬁ-l_@,;gr (iii)
State Coulomb's law. } _gff Wk E’Jf (iv)
What is mica capacitor? : 'é’g_._L-f)—j{)";: W)
Whai is meant by compact disk? ?‘LJlf'k‘:.'_HCj ..L_ﬁ.‘( (vi)
Define word processing, ..é:r o /‘U’\_ﬁ*’{bs (vii)
Define hardware. ' EEy /U Ja3sAh (viii)
Write short answers to any FIVE parts. -& &LUZ/"?L'IZ léga.gjf -4
Describe the working principle of a DC motor. _gé'u.lfdfiﬁ_)?b’ﬁfrddi iy -
State Lenz's law. ~EUkuiEH i
What is meant by thermionic emission? . ?.f._;yg:..ﬁl..?f} (i)
How are the electron deflected by electric field? ?‘; Jn(;( J&‘QJ} J ?:f.a!d“..ziéil_:;_f/"g I (ivIN
NAND gate is reciprocal of AND gate. Discuss briefly. ..._;i_-f;.:»l.-",-l/‘? ‘.:_:Jlb’;.fi:f_l ,;,_G@ (V)in
What is meant by nuclear transmutation, ?a‘c_)l/l_/c_. uf:j:'u” I/‘/‘.%:Z (vi)
Describe two properties of gamma radiations. _ﬁfu_lﬁa_u:":ud,ﬂlé;h‘f (vii) i~
Write three isotopes of hydrogen. -Qf{}:‘ﬁ;ﬁﬁfﬁoﬁ»gl‘. (viii)

-u__?/-,‘; 09 iy _égfhﬁglﬁéaufr»cdf (pigldian
Part - II, Attempt any TWO questions. Each question carries 09 marks,
L ﬂujJUing&szdgLJid,u@dJ Tz‘_;f/g‘:_u@g,iz (i s
What is meant by ripple tank? Explain refraction of water waves with the help of ripple tank.
~E AP B ety ol 20cme < 15em S A Iz 10em{ Il (L)

An object 10cm high is placed at a distance of 20cm from a concave lens of focal len’gtﬁ 15cm.
Calculate the position and size of the image.

..U}L‘gé)ﬁjd&é&g/)}./rﬁg,‘f&k&Uji&.&?}k () -6

Describe four safety measures that should be taken in connection with the house hold circuit.
izt ceVitee $46 12V e &by oA ¢ 6UF ul 12uF A 5T o P ()
-GSty i T

Twe capacitors of capacitances 6uF and 12UuF are connected in series with 12V battery. Find the
equivalent capacitance of the combination. Also find the charge and potential difference across
each capacitor.

Differentiate between magnetic disc and hard disc. _ﬁc{;fu”)uf._‘ﬁjizps!_@.@-c (€-1) BNy
Write five hazards of radiations. _ég/ﬁ-,yéégi Y99 ()
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i -b’my"hlﬂ..«b’uf L)fu;fJé..ﬂuVLd_J’Jujfl:a:tzc.J ’&:/ i
R . A==
o : C ; B ' A Questlons / uﬂfr ;I?/',"
5 ! 4 3 2 'c...;lp’(j:/'s))"uC(SH) |é}1; { i
: _ i The number of neutrons in tritium ( H] is: -'
A T T +1870 (1867 Wi ol L oS 2
L . s When did Graham Bell make a simple telephone? |
1 ] P} - l- f !
SRR K K% ik c.-ﬂfls’u’fd[' 3
! F-.!J.n;u':c.al_m:uil | Electronic mail | Emergency mail Extra mail E-mail is the abbreviation of:
| — : . _ .
é 6 | 4 3 9 n...a:ﬁ:]’ilr__n:f( 4
L L _ . 'q The components of cathude ray osmlloscope are; |
] 2 L & P N . 7~
weyle ol I BN r__chLL_//u.Jqu 7 _»%‘JL; 5
- ‘ N V4 , Temporary magnet which cause 1o flow current - I
Electromagnet Magnet Electric intensily | Magnetig.fj :1d through a coil is: !
Wl .: (331 T i PO {J"M 6 |
Watt : Ohm Volt | _
Sl ' x 2es : e ey S Ku"/:ul‘"k:’ 7
| Pasead Farad Volt ¢ Ampere SEunit of potential difference is: i
oy dtbe g g o o o o o tredd K e U Mui/»d:f/l?_!}, g
P2 L0 NmC™ ) 9% 16°Nm~C ™ 9”0 Nm2C | Ix 0 N“C™ If the medium between two charges is air, then the |
B ; value of k will be: ] i
1 5 . a -
C 3% I(}Smsml 1x 10" 8ms™! 2 x Iﬂ_xms_' L 2x }Ogms"]' - o . :“"J‘:;J%'rucd ?
L _ ] | fhe speed of light in glass is: .
s 49.5° | agge eS| 10 |
| ! ___ | The critical angle of water is: ! |
1 . [
| t
| 386ms ! 327 ms | 346 ms™! " 331ms ! c_u'rrJU;J;stf g A
N _ ) o - The speed of sound in air at 0°C is: ! N
f | !
5 = Fk ko F o F - ke i unwuyuéj 12
S T B _ _ The formula of Hooke's iaw is: 1
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5 _ a. 3 2 w h.lu_xccrﬂ\u CHA _,_Iu \b i i
The number of neutrons in tritium ( uI ) is: _ __
/1876 /1886 £1870 1867 TITEE ] 4 i Jir /S| | 2 |
. When did Graham Bell make a simple telephone? i :
JE S J N fur.r\ﬁ«\_.\\&.d__ 3 |
Llectrical mail | Electronic mail | Emergency mail Extra mail E-mail is the abbreviation of: |
6 4 3 2 c}nwhr\h“hﬁ\urxluuh\-.\ 4 _
: | The components of cathode ray omn_:cmnoun are: __ i
22l 20 w2 G * prN < | h.&_.wﬂkhr\\mh%\r\.\ izeb@Ll 5
|Te t which to fl t Y,
Electromagnet Magnet Electric intensity Zumsuﬂﬁbm_m 5%%%%“%%%3 W SuEe o oW bumen i v _
» [} » ) - m ) _
Ly gl 2y ey SI c\C\.\\.cm 6 |
Watt Ohm Volt !
F1 L2 oL A ‘e SI m\\t& b7
Pascal Farad Volt _ Ampere SI unit of voﬁ:sa difference is: m !
9 22l o1 B 220 B 22l o gl indE kB SU nf heenLzsenS] 8
9x10°Nm“C™*| 9x10°Nm“C™ | 9x10"*Nm2C™%| 9x 10~ INm2C If the medium between two charges is air, then the i |
value of k will be: | i
& o _“
3x10%ms™ | 3x108ms™! | 2x1078ms™! | 2x10%ms”! > . . e hpdEres| o9 m
The speed of light in glass is: ki
. SOAN i
A 49.5° 48.8° e e Ko 10 |
! The critical angle of water is: ! |
“ _ . O o
| 386ms 327ms! | 346ms”! 331 ms! e unlindinly 0 & B
m _. u The speed of sound in air at 0°C is: 1
[| | — _
x = —Fk FHJM] F=—kx F=kx P:w\kf_t\c‘teh(&\ 12 |
S B F o i The formula of Hooke's law is: _ |
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(Part I Jjdias)

10 Write short answers io any FIVE parts. _ -él:a&lﬁ/gérizféﬁc,df -2
Define refraction of waves. -_éﬂ_y,;d’fgjjdzgs (1)
What is meant by simple pendulum? ?g:ygrc,(":%uv (ii)
What is meant by ccho of sound? ?.;__,u/ga_,fu’;.-;u (iii)
Define acoustics? ..c:‘.-": A JLVCJ!" (iv)
What is meant by quality of sound? ?‘L:f/l_f'/c..&,lfd/)iﬁ v)
Define Ohinic and non-Ohmic materials, -é-yﬂ)-ﬁ..ﬁ:ﬂubﬂd;nl (vi)
Prove that: = —}l:; Proes VTE :gi«’_u,e (vii)
Deline conventional current. _g’:‘byf'{fh‘.rfdf‘"f (viii)
i3 Write short answers to any FIVE parts. =& .:Li.ﬁfyc':rleéhc.df -3
Wlhiat is meant by principal focus of a convex lens and a concave lens? v«:".ﬂ/gx..'_ufj’g);}_é:/;’ :cc.!ff.{(/-gf {i)
What is the difference between real and virtual image? il:_ g /"E—@_L.mﬁ Z',: IJ;?_,JM U-’é {ii)
?Jngigfi’&/ - C&{. Scm é&z/f-ffgff)'..«_ﬂé_m._g{ 10cm &.V&;/J-r:f (iii)
An object 10cm in front of 3 convex mirror forms an image Scim behind the mirror. What is the focal length of the mirror?
Define potential difference and its umit. _é..g)/"tﬁ_ug‘i‘/ruf&)jd"‘;é {iv)
What is gold ieaf electroscope? < I_f’/..?-:ﬁ:/j‘.a Wi V)
What is the difference between data and iformation? ' e J)l_futﬁuswtg; {vi)
What is the difference between hardware and software? ?.;.Jf‘.ifuf Tt 7l (vii)
How light signals are sent through optical fibers? 1V g.::.ﬁ{.;;é Jﬁ'ﬁﬁi{}w LA (viii)
IO Wrile short answers to any FIVE parts. -éag!z/z’&rz;&g:.-_df -4
What is the role of relay in a ¢ircuit? e b/ VY Ly JJ}—Q/ (i)
‘e dedeP e el BEIL Il A i)
itow direction of magnetic ficld js measured by the right hand grip rule?
Write any two cemponents of cathode ray osci lloscope. ..g‘,f':; /{I: t Ur* e J:’/[_ __._,;ﬁ).t.’slz_;jﬁ‘-f (i1
Preline analogue clectronics. ~é:r:’u-é’fUJ)€/:g'JUL'('i (iv)
Write truth table of OR operation. q.g.fz’,(fud:a’_u)&ﬁ{f J W
Define nuclear fusion, -ﬁhéfvuf:é/{:&' (vi}
Define half-life. ' -2y Ay, i
_ - iFoS Slga Uahet Brbnd ISt (viii)
What are two common hazards of radiation? Briefly describe the precautions there are taken against them.
_uj/ 09 Ldlr/; _égfétlﬁﬁa e J; a9l A,
Part - 11, Attempt any TWO questicns. Bach question carries 09 marks.
04 ,.xy”‘g@”j&@;»@g(’t&dﬁunﬁ&"’é&&; -é:}lalswagjgunycCE%’s/:lu:'Z) ‘é’g&'} (i) .5
Derive a relationship between velocity, frequency and wavelength of a wave. Write 4 formula
relating velocity of a wave to its time period and wavelength,
15 'i'y:g)‘{wéfdkbc;c.wfb?Jﬁ:lgﬁzfé_tgflﬁ':{i-’ﬁzfr)'cﬂ ~&. 5D J!LJ/‘.’.‘JE:":Q i)
The power of a convex lens is SD. At what distance the object should be placed from the lens so
inat its real and two times larger image is formed?
04 Sk e 2 e B AP (L)
Liscuss the main features of parallel combination of resistors.
05 el SUenl bl -t d SPoe w3 0N A flesione y 260 sem s (L)
' _Uﬂéigﬁﬁcﬁ 2cm u?aég
Two charges repel each other at a force of 0.1 N when they are Sem apart. Find the force between
the same charges when they are 2cm apart. .
0 eSS BT L 00 5 im iy 7

Explain the phenomena of transmission of electrical signals through wires.

05 292 2B YN s L 5kE000 CEENL PP e 273 I N (L)

Lo a5 4k
The half-life of ’gN 18 7.3s. A sample of this nuclide of nitrogen is observed for 29.2s. Calculate
the fraction of the original radioactive isotope remaining after this time.

514-X118-48000
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( Part - 1 Jil s )
Write short answers to any FIVE parts.

-z e §f

-2

Define refraction of waves. ..n_:’,:f - ;erig/;;&_f: (i)
What is meant by simple pendulum? ?.;_:yl_fc.ﬁ,i_:;uv (i)
What is meant by echo of sound? e 185 Gii)
Define acoustics? S 0Ed~ v
What is meant by quality of sound? Sl Ue I ST (v)
Define Ohmic and non-Ohmic materials, -é - /‘U > ALt sl (vi)
Prove that: L —%2— P= _\I;_Z_ :"é..:-.t' (vii)
Define conventional current. __é...y/?lf._ffﬁ/ (viii) .
Write short answers to any FIVE parts. -é..-;.u.eﬂ&tz@;.df
What is meant by principal focus of a convex lens and a concave lens? !‘q..;l,lkfc..u/ idf{ﬁ /’L’ :Ggﬁ/‘"f s (i)
What is the difference between real and virtual image? ?r‘_J)l_;@_L_fuﬁ 5 U.% .wle::* (i1)
8N, e §, sem SEL T L ne g 10em 2L Lp 5 g
An object 10cm in front of a convex mirror forms an image Scm behiind the mirror. What is the focal length of the mirror?
Define potential difference and its unit. _'_-_t':’_g,;tf.:;g&w_ovl);&% (iv)
What is gold leaf electroscope? fe I,.;"..;:Cs}‘_jh_ijﬂf v)
What is the difference between data and information? ' T J)l:fgdw%lﬁb:!l},i (vi)

What is the difference between hardware and software?
How light signals are sent through optical fibers?
Write short answers to any FIVE parts.

What is the role of relay in a circuit? e bbb l_..fh' L d.!..‘.f”/gf( (i)
A ASBEEI L JP L2 iy

How direction of magnetic field is measured by the right hand grip rule?

Write any two components of cathode ray oscilloscope, ey frtﬁ.u:"’»:_dfﬁgr;ﬂfﬂe_ﬁr;{ (iii)

Define analogue electronics. _é'.é‘/UJff'giJit;I (iv)
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Write truth table of OR operation. SRR T ()
Define nuclear fusion. -EE il A (vi)
Define half-life. ' -y sy iy -
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What are two common hazards of radiation? Briefly describe the precautions there are taken against them. .
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Part - II, Attempt any TWO questicns. Each question carries 09 marks.
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Derive a relationship between velocity, frequency and wavelength of a wave. Write a formula
relating velocity of a wave to its time period and wavelength.
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The power of a convex lens is 5D. At what dj stance the object should be placed from the lens so
that its real and two times larger image is formed?
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Discuss the main features of parallel combination of resistors.
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Two charges repel each other at a force of 0.1N when they are Scm apart. Find the force between

the same charges when they are 2cm apart. N
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Explain the phenomena of transmission of electrical signals through wires.
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The half-life of 'SN is 7.3s. A sample of this nuclide of nitrogen is observed for 29 2s. Calonlatc
the fraction of the original radioactive isotope remaining after this time.
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